2014.01 7|53 ¢ 31 SXAQ ¢ fF
2 EL He Hepx Y Xp o Ehol
2014/01/01 | S Q7K S|LH=7|7|2F-AU* SRTHHE 0 10,000
2014/01/02 | 710|918 X|H7|2F- A A S| YLHET]) oS CHR 7t FojosH 0 30,000
2014/01/02 |MFEM A HIX|H7| 2 Z-04 57| 2El HFE HFEE2LEH 0 51,980
2014/01/02 | #F 25 X| 7| 2 F-E*0l(Z*2H2014H £ & X| JI1XH YFpgEs 0 200,000
2014/01/02 | = QIJHEt LiOFAH 7|2 3-8 SRATHHE 0 10,000
2014/01/02 |2 20 LisHIGE| 7|2 F-LI0|AHE S LIGHAR S44E], H{SAHUE 0 78,086
2014/01/02 | S S s 7|2 5-HEMLMUE 182 S SRNUE 0 15,450
2014/01/02 | S @S s 7|2 5-ZS 18H i85 SRNUE 0 81,000
2014/01/03 | S &SI S HIX| 7|2 F-2*st SESIEE 0 202,562
2014/01/03 | S &St E X|H7|22-HHOA N SSt W SEF0t2|HiAte|+AFR( S LY 0 320,500
2014/01/03 |&= M Oj = X|H7|2F-A* (L2 02| 0| 27 ¢/H|) el 0 105,000
2014/01/03 | S QU HEE7| 2 3-+HtE TOIE J|18 5 SRATHHE 0 1,160
2014/01/03 | S QIJH'E LEOFAH 7|2 - Kb SRATHHE 0 50,000
2014/01/03 [S 7)Y L 22| 7| 2 3-0t 28 e g SRATHHE 0 16,370
2014/01/03 [Ate| @9 Limkal7| 2 3-ZC0p 3 2|0t Ao ZHE 0 2,219,481
2014/01/04 |&=HOj = X|Y7| 2 3-S*F 37 (LHs 2 2| 0| 57 H]) =M SN 0 175,000
2014/01/06 | = Q17K LIOFAH 7|2 3- X[+ SRATNHE 0 10,000
2014/01/06 | = Q7 S|YLEET|7| 2 F-B* N SRATNHE 0 10,000
2014/01/06 | = Q7 S|YLEET|7| 2 F-F*N SRATHHE 0 30,000
2014/01/06 (S @70 L 202 7| 2 3-M4MaH 3 e SRATHHE 0 18,000
2014/01/06 | S 71 LHs 22| 7| 2 2-LIO|AH B EA A2l SRATHHE 0 9,637
2014/01/06 | S 71 LHs 22| 7| 2 Z-LIO|AH B S P4 SRATHHE 0 9,637
2014/01/06 | S QIS Lz 2|72 F-LIo| AT B EA EHXY SRATHHE 0 4,780
2014/01/06 |O{=E 8 X|H7|22-T*S Q27 (L= 2] A+EHH 0 200,000
2014/01/06 |&=H 01 = X| 57| 22T Q37 (L= I}a| 0| 27 ) =M SN 0 210,000
2014/01/07 [1 S IMYH LR I2|7| S F-ALEHHOl St n A Ra|Hs| [ISAAMHREE 0 3,000,000
2014/01/07 | S QS S|YLHE7|7| 2 F-LIO|AHE EA oS SRATHHE 0 980.200
2014/01/07 |2 20 E LisB M| 7| 2 5-5at26HE 2H2SHH 7|25 SRNLUE 0 381,770
2014/01/07 | S QRS S|YLpE7|7| 2 F-5H2 SRATHHE 0 30,000
2014/01/07 | = @170 S| gl 5 21 F (| E & 7| £ 31,776,6002) SRATHHE 0 1,776,600
2014/01/07 | S Q7K' S| 8IS R F (S| YLE=7|7| 23 6,5002) SRATHHE 0 6,500
2014/01/07 |5 @171 SIS Y F(LHs 22| 7| 2 F 23,1008) SRATHHE 0 23,100
2014/01/07 [o]=E S X|H7|2F-2* o4 (LHs 2 al) o+ EGHH 0 350,000
2014/01/07 |20t X|H7| 22 - U H Q47 (L= R I} 2| 0| S 2 H OF) S0ty 0 280,000
2014/01/07 |=Moj= X|H7 |25 -FHLI8A (L= 22| 0| = &H]) =M=H 0 455,000
2014/01/07 [o] =8t & X712 3-F*8 A d(L=s2nta|ol =) ofstEd™ 0 50,000
2014/01/08 |08 X|H7|22-HAZ AXQ7A(Lhs 2 0t2|) Oj+EEH 0 410,000
2014/01/08 |oj x5t & X|H7| 2 3-Z* M (LHsR 02087 2)) ofstEd™ 0 50,000
2014/01/08 |=HOj = X|H7|23-2*M 97 (LHs 2 2| 0| &7 ¢ H]) el s 0 525,000
2014/01/08 | = Q71 LEOFAH 7| 2 3-M*a SRTHHE 0 10,000
2014/01/08 | S QY LR 27|23-2 24 & a g SRTHHE 0 129,650
2014/01/08 | 20 L2 7|2 F-LI0|AHE S F*H(9,637), 5598, S 7N L El 0 107,657
2014/01/08 | = Q7Y HIE L7 2 Z-LIO|AF HE4 Bt PE SRTHHE 0 29,300
2014/01/08 | S Q7' LIOIAH 7| 2 2-LIO| A EA 2t X7 E SRTHHE 0 29,300
2014/01/08 | S Q7Y & M 7|2 Z-LIO| AR HEA Bt PE SRTHHE 0 49,222
2014/01/08 | = Q71 S|QYLtE=7|7| 2 F-0[*2 SRTHHE 0 10,000
2014/01/08 | o= HIX| 7| S Z-ADTZHA & Alutay o= 0 150,000
2014/01/09 |O{=E & X|H7|22-0[*3|Q17(Lt= R I}2]) o+ EGHH 0 80,000
2014/01/09 [oj x5t & X782 3-*F (s 02087 ¢)) ] 0 200,000
2014/01/09 |&=HOf = X|H7| 2 2-U*S 47 (L= R I}2| 0| 27 & H]) =M SN 0 280,000
2014/01/09 | = QUK S|QLtE7| 7|2 F-OHF SRTHHE 0 30,000
2014/01/10 [ 2T S X|HI|2F-11~12HANESHH Y B 2o Q(HFAQIOtS|HFHHES 0 188,340
2014/01/10 |O{=E & X| 7|22 - *0tQI6 7 (L= R I} 2]) o+ EGHH 0 350,000
2014/01/10|0j =8t & X|H7|2F- 40 F(UHsLTa]) ofstEd™ 0 50,000
2014/01/10 (=M 0|5 X|Y7| 2 F-2* 242 (LHs B} 2]) MO = 0 2,175,000
2014/01/10 |5 @170 LHs 22| 7| 2 2(9,6378)-LIO| A B EA_Z*A SN E 0 9,637
2014/01/10 [ = @170 HI E 7] 2 5(9,6373)-LI0| A HE 41 U* SN E 0 9,637
2014/01/10 | 2 QI7H'W LIOFATH 7|2 3(9,6372)-Lt0| A H B S41 A+ SN E 0 9,637
2014/01/10 | S AW Y =M 7|2 F(19,274R)-LI0|AFH SN _Z*A SRHE 0 19,274
2014/01/10 [ RIS LIE HW2|7| 2 3-SR AIS| S X Hole| ARFIE 7|25 [SRILE 0 20,000,000
2014/01/10 [ S @70 S|YLPE7|7|2F-H*2 SRHE 0 3,000
2014/01/11 | S WS S| YLHET| 7|2 F-E F (M) SRHE 0 100,000
2014/01/11 | 2 Q7 S|YLtE7|7| 23 -H|O| X| §(X[*F) SN E 0 100.000
2014/01/13 |HEMM 7|12 FAZ 25 AT A HEMME 0 150,000
2014/01/13[CMS HIEH 7|25 SRE 0 200.000
2014/01/13|CMS LHs Mt 7|22 UEnSE 0 10,000
2014/01/13|CMS LOpAM 7|23 SN E 0 434,000
2014/01/13|CMS EA T 7|22 SN E 0 20,000
2014/01/13 |CMS ZF 28 S|LLIET| 7|25 A= s 0 130,000
2014/01/13 [CMS 10|9lE 3|YLHET| 7183 OHECHR7tA TOjoIsSH 0 20,000
2014/01/13 |CMS 3| ULIET| 7|25 SRHE 0 790,000
2014/01/13 |CMS S4tl S Al Ml SILE=T] 7|25 S E T 0 20,000
2014/01/13|CMS H e S|LLIET| 7|25 g8 0 40,000
2014/01/13 |CMS dfje| ZISX| ¥ 7|25 SRHE 0 10,000
2014/01/13 | HF =& X|FH7 |2 F- 122D S D FHSI7TR(EF A0S HMX|[HFHHES 0 850,820
2014/01/13 [Oj=E S X|H7| 2 F-c* A1 (LHs 2 }a]) o+==H 0 220,000
2014/01/13 [=HO| 5 X|H7| 2 F-H*5 Q8 (LHs 2} 2]) MO = 0 705,000
2014/01/13 | S RI7 S S|YLI 7|72 F-LIO|AFE S Y SRNE 0 48,185
2014/01/13 | S AANY HIE 7|2 F-LIO|AHE S 4 sHH SRNE 0 48,185
2014/01/13 | M3| SH X|FH 7|2 S (LA SHoF X[ /)-Atd RTHS[AL ALl STIE 0 3,570,000
2014/01/13 [Ab2| 28 LIs R 27| 2 2-G3 e Ate| S E 0 10.000,000
2014/01/14 [0+ &Y XH7| 2 3- A H Q2 (LHs 2 [}2]) A+==d 0 440,000
2014/01/14 | =M= X|FH7|2F-F*AL2A (L= 202]) MO = 0 105,000
2014/01/14 | RV S =AM R7|2F-21Ho{ D SRNE 0 157,000
2014/01/15 [ RI7H S S|YULPE7|7| 2 3-5HF SRNUE 0 10,000
2014/01/15 [0} =3t & XY 7| 2 F-A[*2] 22 (LHs 2 [} 2]) A+stsH 0 550,000
2014/01/15 [0+ &Y X|H7| 2 F-2*F 4 (LHs 2 2]) A+==d 0 470,000
2014/01/15 [=HOj 5 X Q7|2 F-A*Z L2 (LHs 2 [} 2]) MO = 0 280.000




2014/01/16 |4 == S X|F7| 2 5-A*F 22 (L= 2 02]) +ESH 0 440,000
2014/01/16 |=H0j = X|H7|2F-LHSH H(LHs 2 0ta|) M2 0 420,000
2014/01/16 |4 +==H X| 7| 25-HMNCCH(Ls 2 0a]) o+E5H 0 1,290,000
2014/01/16 | Z 7Y HIEHT| R F-+H7tE HOIE J|235 SRATHHE 0 11,016
2014/01/16 | = 7Y HIE 7|2 F-2*7| SRATHHE 0 30,000
2014/01/16 | @170 LIOtA W 7|2 5-8+*0| SRTHHE 0 10,000
2014/01/17 |08t s X G2\ 23-d*H(UsRE]) o= 0 100,000
2014/01/17 |4 == X| 7|2 3-0+WHR(LHs B 02]) +ESH 0 1,000,000
2014/01/17 | S @70 S|YLHET|7| 2 F-F+H SRATHHE 0 20,000
2014/01/17 | Z 70 S|ULIE7|7| 2 F-@E Zetotg A4 SRATHHE 0 74,940
2014/01/17 |E| & 2IE 7| S EUW $A(QF) Mg Me 0 54,270
2014/01/18 [Oj+=E S X Y7\ F-*8|(LUERE]) SEHA 0 550,000
2014/01/20 |08t s X Y7\ 2 F-*F(LUHELIE]) o= 0 300,000
2014/01/20 (o]~ E S X|H7| 2 F-0[*Chc*3| Q17 (L= 2 I2]) A+E4H 0 190,000
2014/01/20 [=HOj = X|F7|2F-8Hal(LtER2]) =H2H 0 35,000
2014/01/20 | = 2170 HIE 7|2 F-0[*X! SRHUE 0 30,000
2014/01/20 | = @170 LiOA T 7|2 5-*3)| SRHUE 0 10,000
2014/01/20 [AI3|SH Lis 202 7|2 3-SRMHEHE AR SHE 0 4,000,000
2014/01/20 |22 & HIX|H7|2F-0AHO0|HFLAHO|MZMO|EE AO|E2AH|SEE 0 1,100
2014/01/20 [A13| 39 LHs 22|72 3-S23H 4 RS AR SHE 0 4,000,000
2014/01/21 |4+ S X|F7| 2 F-2*2(LUHsE0a]) A+E4H 0 320,000
2014/01/21 |&=HOj = X|F7|23-H* T (LUtsR2]) =H2H 0 105,000
2014/01/21 | & @I7HS LiOpAE 7|2 F-HH*o} SRHUE 0 10,000
2014/01/21 | & 70 LIOA T 7|25 -A*A} SRHHE 0 10,000
2014/01/21 [AI3| 39 LI 2 WM27| 2 3-@EEEE ZAUS AR SHE 0 4,000,000
2014/01/21|CMS HIE & 7|25 SRNLUE 0 516,000
2014/01/21 |CMS LIOFATH 7|52 SRNLE 0 30,000
2014/01/22 |oj+=E S X Y7\ 2 F-*8|(LUsR2]) A+EGd 0 50,000
2014/01/22 |oj+EH X|H7| 2 F-O| R YOI ZESAR SO+ dHHA(LtsR el oj+EEF 0 501,500
2014/01/22 | & 70 LIOpA T 7|2 - SRHUE 0 10,000
2014/01/22 | S @70 S|ALHE7|7| 2 3-4*Y SRHUE 0 10,000
2014/01/22 | S 70 S|ULPE7|7| 2 3-HEtE g e g SRATHHE 0 24,180
2014/01/22 | S @) S|eLtE7|7|23-0[*2l SRHUE 0 200,000
2014/01/22 |E|H IS HIX|H7|2F-I7|SEW ¢ MEE|MHE 0 500,000
2014/01/22 | 70 S|ULIE7|7|2F-H SRHHE 0 5,000
2014/01/23 [ &5 X712 3- 18238222 5 0[A(FFAQOsHM BT SRR 0 165,330
2014/01/23 [T AHLER HIX|H 7|2 2-H*F TALR R 0 29,000
2014/01/23 |&=Moij= X|H7| 2 5-0* KL= I}2]) =M=H 0 35,000
2014/01/23 |AIH|F XEI |2 S-St S L U@ FoH UM A (Lis 2 02]) MHFEH 0 2,500,000
2014/01/23 | S @70 =72 35-18 WiHo| =3 SRHHE 0 50,500
2014/01/23 [ AI3| S LHs 2 Wa] 7| 2 3-staRetstA 7|2l ALB| SHE 0 3,000,000
2014/01/23 | S 70 S|ULHE7 (7|2 F-Ef D SCHE R Sot2| SRHHE 0 40,000
2014/01/24 |25 X|H7| 2 3-#HOHAYSHS 4 (ZF A0S MK B) [BFH SRS 0 100,600
2014/01/24 | HF4le XH7| 2 3-SR AL S(HLEX| @) HFEUEH 0 85,000
2014/01/24 |2 20 HIEH 7|2 5-RHFIE SRNUE 0 1,344,572
2014/01/24 | S @70 S| 7| 2 F-5H*0t SN HE 0 5,000
2014/01/24 | S 70 S|AULHET|7|23-0|*% SN HE 0 10,000
2014/01/24 | 5 70 LiOpA T 7|2 5-0[*3) SRHHE 0 10,000
2014/01/24 [HIX|H7| 2 3-22| EXHEH oA E 0 20,000
2014/01/25 | S @70 S| LHE7|7| 2 F-0[*3} SN HE 0 30,000
2014/01/27 | S 7Y HIEEH 7|2 F-2U*S SN HE 0 10,000
2014/01/27 | S 70 HIE 7|2 F-S*2t SN HE 0 10,000
2014/01/27 | S 70 LIOtA T 7|2 F-EH*2 SN HE 0 10,000
2014/01/27 | S 70 LiOtAT 7|25 -S4 SN HE 0 10,000
2014/01/27 | S 70 LIOtAT 7| 2 5-A*S SN HE 0 10,000
2014/01/27 | S 70 LIOIAT 7|2 F-c*S SRHE 0 30,000
2014/01/27 | S ANY S| YLHET| 7|2 F-0F SRHE 0 30,000
2014/01/27 | S WY S| YLHET| 7|2 F-H*F SRHE 0 50,000
2014/01/27 | S @70 S|YULHET|7| 2 F-LPF SN E 0 20,000
2014/01/27 | S @70 S| LHE7|7| 2 F-A*El SN E 0 20,000
2014/01/27 |2 Y LR G2|7| 25 -Lis 2 2| AL Suatal 7|24 SN E 0 216,100
2014/01/27 | RIS S|ULIE7|7| 257t Ehof 7|2 SN E 0 12,000
2014/01/27 | S 70 s|eLbE7|7| 2 3-Z*0t SN E 0 20,000
2014/01/27 [ RI7H S LIOtAE 7| 2 5-0]* SRHE 0 50,000
2014/01/27 | 70 S| LHE7|7|23-0[*R SN E 0 10,000
2014/01/28 [CMS HIEH 7|25 SRE 0 2,373,500
2014/01/28 |CMS LHs MOt 7|25 UEnsE 0 38,000
2014/01/28 |CMS LIOtATH 7|23 SRHE 0 5,515,000
2014/01/28 |CMS &t atbA| ZIGX|aF SN E 0 10,000
2014/01/28 |CMS =AM 7|23 SRHE 0 625,000
2014/01/28 |[CMS Zf=EH sjgtLt=7| 7|22 SFEHES 0 615,000
2014/01/28 |CMS L0|QIS 3|HLI=7| 7|25 OSCIR7HA FOj2ls 0 230,000
2014/01/28 [CMS 3| ULHE7| 7|22 SRHNE 0 11,009,500
2014/01/28 |CMS 4t S|HLIE7| 7|25 AL 0 50,000
2014/01/28 [CMS OpAERpAF S| LEET| 7183 OpARPAL 0 30,000
2014/01/28 |CMS APM 3|HLHE7| 7|83 AMEH 0 60,000
2014/01/28 |CMS &=MOf = S|LLI=7| 7|25 MO = 0 80,000
2014/01/28 |CMS Oj+==Y 3|YLtw7| 7|85 A+==H 0 110,000
2014/01/28 |CMS 4 S MM S|ULIET| 7|23 SMHEAHT 0 300,000
2014/01/28 |CMS 24t S|HLEET| 7|25 ALSILEH 0 50,000
2014/01/28 |CMS HE+4 3|YLET| 7|85 gEr8E 0 340,000
2014/01/28 |CMS B8l 3|YLE7| 7|25 SHUSLH 0 80,000
2014/01/28|CMS 32| ZISX[Y 7|22 S olsferel 0 T65 000
2014/01/28 | S A7 e LIOPAMH 7] 2 5- 4% SRMEE 0 20,000
2014/01/28 | S RI7H S S|ULIE7| 7|2 3-8 SRNE 0 20,000
2014/01/28 | S RIS S|ULIET| 7|2 F-H*F SRNE 0 1,145,000
2014/01/29 | S RZWHE AW 7|2 F(2014.1.22) CHA| SRNE 0 -5,000
2014/01/29 | S RZWHE AW 7|2 F(2014.1.22) CHA| SRNE 0 5,000
2014/01/29 | S WA E O]*& F7|7|$5(2014.1.27) ChA| SRNE 0 -10,000
2014/01/29 | S WA E O]*& F7|7|$5(2014.1.27) ChH| SRNE 0 10,000




2014/01/29 |2 R0 E T*2 Y| 7| $5(2014.1.10) CHA| SRNLUE 0 -3,000
2014/01/29 |2 R0 L E T*2 Y| 7| $5(2014.1.10) CHA| SRNLUE 0 3,000
2014/01/29 | S RI7H L E Z*F AA|7|H5(2014.1.28) CHA| SRNUE 0 -1,145,000
2014/01/29 | S RIS E Z*F AA|7|H5(2014.1.28) CHA| SRHEE 0 1,145,000
2014/01/29 |2 RN E B84 i 2 5(2014.1.8) CHA| SRNLUE 0 -129,650
2014/01/29 |2 RIS E B84 i 2 5(2014.1.8) CHA| SRNLUE 0 129,650
2014/01/29 |2 RI7H L El 0]*3| Y 7| 7| %5(2014.1.24) CHA| SRNLUE 0 -10,000
2014/01/29 |2 RI7H L El O]*3| Y 7| 7| %5(2014.1.24) CHA| SRNUE 0 10,000
2014/01/29 |2 RI7H L E O*%= Y 7| 7| $5(2014.1.27) CHA| SRNLUE 0 -50,000
2014/01/29 |2 RI7H L E O*%= Y 7| 7| 85(2014.1.27) CHA| SRNLUE 0 50,000
2014/01/29 | = I7H Al sim ¥l(Lts R a]) 2014.1.7 ChA| SRHE 0 -23,100
2014/01/29 | = I7H Al sim Hl(Lts R a]) 2014.1.7 ChA| SRHE 0 23,100
2014/01/29 | S QN E! S| BI(R 2 | E ) 2014.1.7 CHK| SRATHHE 0 -1,776,600
2014/01/29 | S QIS E! S| (R 2 | E ) 2014.1.7 CHX) SRATHHE 0 1,776,600
2014/01/29 | = QI E! S| (S| Y LEET| ZLY) 2014.1.7 CHA| SRHUE 0 -6,500
2014/01/29 | S QI E! S| (S| YL ZLY) 2014.1.7 CHA| SRHUE 0 6,500
2014/01/29 | S QIJHEl 18 CMS B HHIEH 7|23 CHX| SRATHHE 0 -3,064,351
2014/01/29 | S QIJHEl 18 CMS B HHIEH 7|23 CHX| SRATHHE 0 3,064,351
2014/01/29 | S QIJHHEN 18 CMS LHs WSt 7|23 CHA| LHs S El 0 -47,016
2014/01/29 | S QIJHHEN 18 CMS LHs WSt 7|23 ChA| LHs S El 0 47,016
2014/01/29 | S 2AHWEl 18 CMS LIOIAEZAX|A 7|53 ThA| SRATNHE 0 -5,909,210
2014/01/29 | S 2AHWEl 18 CMS LIOIAEHX|A 7|53 ThA| SRATHHE 0 5,909,210
2014/01/29 | S QIJHE! 18 CMS BrZatfAl ZISX| /23 CHX SRATHHE 0 -9,972
2014/01/29 | S QIJHEl 18 CMS BrZatfAl ZISX| /23 CHX SRATHHE 0 9,972
2014/01/29 [S Q7 El 19 CMS OFECHR EM T 7|23 ChA| SRATHHE 0 -639,035
2014/01/29 [S Q7 El 19 CMS OFECHR EM T 7|23 ChA| SRATHHE 0 639,035
2014/01/29 [ S 70 El 18 CMS 3iQZIZ R A2 CHA| SRHUE 0 -173,955
2014/01/29 |5 7 El 18 CMS 3iQZIZ R A2 CHA| SRNHE 0 173,955
2014/01/29 |2 270 E LIO|AFE S Z*¢ (2014.1.10) CHA| SRNLUE 0 -19,274
2014/01/29 |2 270 El LIO|AFE S Z*¢ (2014.1.10) CHA| SRNUE 0 19,274
2014/01/29 | S QIJHE! LIO| AT H E 41 Bp3{XI71E5(2014.1.8) CHA| SRATHHE 0 -49,222
2014/01/29 | S QN E! LIO| AT H E 41 Bp3{XI-71E5(2014.1.8) CHA| SRATHHE 0 49,222
2014/01/29 |2 270 El LIO|AFE S Z*¢ (2014.1.10) CHA| SRNLUE 0 -9.637
2014/01/29 |2 270 El LIO|AFE S Z*¢ (2014.1.10) CHA| SRNUE 0 9,637
2014/01/29 | S QN E! LIO| AT H E 41 Bp3{XI71E5(2014.1.8) CHA| SRATHHE 0 -29,300
2014/01/29 | S QIJHE! LIO| AT HE 41 Bp3{XI71E5(2014.1.8) CHA| SRTHHE 0 29,300
2014/01/29 | S QIJHHE! LIO| AT HE 41 Bp3{XI71E5(2014.1.8) CHA| SRTHHE 0 -29,300
2014/01/29 | S QIJHHE! LIO| AT HE 41 Bp3XI71E5(2014.1.8) CHA| SRTHHE 0 29,300
2014/01/29 | S Qi E! LIO| AN HE 41 21*04(2014.1.10) CHA| SRTHHE 0 -9.637
2014/01/29 | S Qi E! LIO| A HE A1 21*04(2014.1.10) CHA| SRTHHE 0 9,637
2014/01/29 | S QWL E! LIO| AN HE 4 $H7H(2014.1.13) CHA| SRTHHE 0 -48,185
2014/01/29 | S Qi E! LIO| AN HE 41 $H7H(2014.1.13) CHA| SRTHHE 0 48,185
2014/01/29 | 70|91 X|H7|2F-ZHA(S|ULHEI)-AXL S UF HHOIE  |OFECHRIIA TOIQEN 0 237,250
2014/01/29 | S QNS HE 7|2 3-8 8ot SRTHHE 0 10,000
2014/01/29 | S QWY S|QYLpE7|7| 2 -0 2t SN HE 0 30,000
2014/01/29 | S Q7S S|YLE7|7|2F-LIO|AHEEAN 24 SRTHHE 0 96,370
2014/01/29 | = Q7K' S|QLt=7|7|EF-0|Ch = S LR 7H SN HE 0 30,000
2014/01/29 | S QNS S|YLtE7|7| 2 F-FH U Eorzt SRTHHE 0 160,000
2014/01/29 | S QUHY S|YLHE7|7|2F-2A TN jRta g SRTHHE 0 2,300
2014/01/29 [AEF AKX HIX|HI|23-CHo P2 eSS Ay SIS 0 140,000
2014/01/29 | & A RIE HIX|H2| 2 F-7| B2 +A(E et EAM) SEEME 0 17,000
2014/01/31 | S Q7N LIOFAH 7| 2 3-2*M SRTHHE 0 10,000
2014/01/31 | S QRS S|YLpET|7| 2 F-2* M SRTHHE 0 10,000
2014/01/31 | S QNS SR (LIO|AREEL) 7|23 FA| AHEAM Ha| |SAJfHE 0 14,520
XFHZE 7183 £ 84 106,199,205

2014/01/02 || M RISl 7| S E L 0 2L MEAHEE) HIXHIED) SEE M 0 30,000
2014/01/31[2014d 18 HELUEEXIH) S 2F(ET2 ) St S X=X 3|4 LHs A El 0 824,000
2014/01/31{2014H 18 S SLIE(MALS) S 100F MECH st D QIZLA|OF 28 [HFEMAME 0 300,000
2014/01/31{2014H 18 SIELIE(MALE) S 1008 BSO0|2E=X| YOS ME X [LHsAYEl 0 100,000
2014/01/31{2014H 18 SISLIE(MALE) S 1008 AMAIZIX| ol S ME X[ &l[LHs A El 0 100,000
2014/01/31{2014H 18 SISLI&E(MALE)_Z 100F O|2X|otSME X 2I(CHH[LHs A&l 0 100,000
2014/01/31{2014H 18 SISLIE(MALE) S 100 ALEAIZIRI2IE X|SjOLSMI[LHS ALY El 0 100,000
2014/01/31|2014'4 18 HELt=(XHALE) F 1008 O] HX| oS A X A(TILts A El 0 100,000
2014/01/31[20144 18 HEL=(IAIE) & 10H ST X|ACH/=U) [FAotel20h 0 62,500
2014/01/31[2014H 18 HEL=(ALE) & 16H ZE57H X0/  [LHeATHE 0 104,000
2014/01/31[2014H 18 HEL=ALE) & 11H ST AWK AME X ACH{LHEAIE 0 93,500
2014/01/31[2014d 18 HEL=RIAIE) & 178 MU S X AC|LHs AT E 0 100.000
2014/01/31[2014d 18 HELI=(RIAIE) & 16T MBHHEAML S 2 X AC|LHs AT E 0 172,500
2014/01/31 (20144 18 HELI=(RHALE) & 500 AR Ol MBS OISX|A|[LHs AT El 0 1,000,000
2014/01/31[2014H 18 HEL=(ALE) & 70 St=F 0| = H 3| X|RACH/=[LHsAtAE 0 190,000
2014/01/31[2014d 18 HELH=(RIAIS) & 65T MHE HALSEE X (LHsAIAE 0 160,000
2014/01/31[2014H 18 HELHs(XIAFR) ZE 30008 ADMS Q2 XA LS LA El 0 7,500,000
SEJESTY B 0 11,036,500

2014/01/07 | S AW SjuHIS AF LA LS 7| 7| £551,7002) SRNE 0 51,700
2014/01/08 Mot & DR S AF -GN S UK M AR SHAM AT A HH])  [HoIHEH 0 300.000
2014/01/10 [F @70 JHAIBHE 7|7 | 2 F(EA S-S SN E 0 10,000
2014/01/13[CMS ZIABHE7| 7|23 SRNE 0 10,000
2014/01/13 |CMS M ¢t ZFABIS 7] 7125 dMEHE 0 15,000
2014/01/13 |CMS R4S 4R S FHABIS Y] 7125 g e 0 10,000
2014/01/13 |CMS S4t57 JHAH|BHE 7| 7|85 OECHRZtAZAE 7 0 100,000
2014/01/13 |CMS HFEAE ZIABHS7] 7|25 sFNSH 0 20,000
2014/01/13|CMS ZH JHHBHE 7| 7|83 ERE 0 30,000
2014/01/13 [CH T @A Of 7| M5 §12-BPS17| AUTPA A (CH P A ORI RN A[CH R MEH 0 86,000
2014/01/16 | FACALS O H S AU F-FF (L S 2| H S AFZEAH]) SAALSEE 0 100,000
2014/01/17 | A S AXtE 128 MFAMN 7|25+ A=y 0 500,000
2014/01/20 | HE+d WS AF-+HUNEAER D AXR) gE+8E 0 100,000
2014/01/20 | 4F 8= WHSAF-*CHESHA HAS MEI|IRF) 2F8=H 0 360,000
2014/01/21 |24 MG AZ-HZ 7ok (Lt Ma|&7|FH A UH)[SAMEH 0 300,000
2014/01/21|CMS CHE S| ZHABHS 7| 7|25 geisH 0 100,000
2014/01/22 | AFHE WHSAF-RO L LAWY AXR) SFHCH 0 4,719,117




2014/01/23 | Z 7Y A SHS7|7| 2 F-LI0|AF B E4 OtEZ SRATHHE 0 96,370
2014/01/27 |24HS 7 F HEYUXE 7|85 oS CHR 7t EME 7 0 300,000
2014/01/27 | OpAbRFAE Of TS 215 - A*2| (71| BF SRNUE 0 10,000
2014/01/28 |CMS ZHAIBHS 7| 7|85 SRNUE 0 435,000
2014/01/28 |CMS 28l A4t JHARIE 7| 7|82 28 M A 0 75,000
2014/01/28 |CMS CHTHAS 2L JtA2E7| 7|23 fras=L 0 30,000
2014/01/28 |CMS CHH B 2| ZtABHS 7] 7|23 CEcHsH 0 130,000
2014/01/28 |CMS OpAEXEAL ZFAIBHE 7] 7|23 Op &S 0 150,000
2014/01/28 |CMS 2442 S JHABISY| 7|85 SRS 0 265,000
2014/01/28 [CMS M Z JHABHS7| 7|23 HEMHZES 0 20,000
2014/01/28|CMS ME ZHAIBIS 7| 7|82 MNEH 0 150,000
2014/01/28 |CMS =@ A& JIAHBHET| 7|83 SRAHER 0 60,000
2014/01/28|CMS OH JHARIE 7| 7|82 Ot H 0 152,000
2014/01/28 |CMS 245 JHABHE Y| 7|83 OECIR7HAI g 0 980,000
2014/01/28 |CMS 24417 JtAIBHE 7| 7|83 SAMEH 0 80,000
2014/01/28 [CMS ZIFHOF ZtA|BHE 7| 7|23 ZFgord 0 40,000
2014/01/28 |CMS HMot& & JtABHE 7| 7|83 HOIWEH 0 115,000
2014/01/28 |CMS HF 418 JtABHE7| 7|183 HdFUEH 0 70,000
2014/01/28 |CMS HF 8 JtABHE7| 7|83 HFEAH 0 75,000
2014/01/28 |CMS =M JtA S| 7|25 ZHH 0 635,000
2014/01/28|CMS Egi 2 Qa2 SHEE 0 60,000
2014/01/28 | R AMALSH DY RS RIF-FH(EESHAL HHEH|E) SAALSHY 0 360,000
2014/01/29 | @7l A+ F7|7| 23 CHMI(1/10) SRHUE 0 -10,000
2014/01/29 | @7l A+ F7|7| 23 CHMI(1/10) SRHUE 0 10,000
2014/01/29 | = 7A€l sHm HI(ZtA BHS 7)) 2014.1.7 ChA| SRHUE 0 -51,700
2014/01/29 | = 7A€l ST HI(ZHA BHS 7)) 2014.1.7 ChA| SRHHE 0 51,700
2014/01/29 [S Q74 El 19 CMS OFECHR 7} A RS 7| CHA| SRATHHE 0 -441,123
2014/01/29 [S Q74 El 19 CMS OFECHR 7} A BHS 7| CHA| SRATHHE 0 441,123
2014/01/29 [ RI7HAE 18 CMS Zsi A&t ZHAISHS 7| CHA| oM et 0 -88,700
2014/01/29 [ RI7HAE 18 CMS Zsi A&t ZHAISHS 7| CHA| oM et 0 88,700
2014/01/29 | S RI7HAE 19 CMS P A S =5 JHABHS 7| CHA| fras=s 0 -29,860
2014/01/29 | S RI7HAE 19 CMS P A S =5 JHABHE 7| CHA| fras=s 0 29,860
2014/01/29 | S IHEHEl 12 CMS i B 2| ZtASHE7] CHA el 0 -229,580
2014/01/29 | S IHEHEl 12 CMS i B 2| ZtASHE7] CHA rsald 0 229,580
2014/01/29 | S I7HEHEl 12l CMS Op&bXbAE ZHA|BHS D] CHA| Op AR 0 -149,160
2014/01/29 | S 74 EHEl 12l CMS Op&bXbAE ZHA|BHE D] CHA| Op AP AR 0 149,160
2014/01/29 | S 27HHE 18 CMS 2ALSAIHA RS D] CHA| 2AtgitE s 0 -271,110
2014/01/29 | S 27HHEl 19 CMS 2ALSAIHAH RS D] CHA| N e 0 271,110
2014/01/29 | 7HAE 18 CMS M ZE ZHASHE 7| ChA| MAEH 0 -19,840
2014/01/29 | 7HAE 18 CMS MY ZE ZHASHE 7| ChA| MAEH 0 19,840
2014/01/29 | 7HHE 18 CMS MEF ZHASHS 7| ChA| MEH 0 -148,070
2014/01/29 | S 70 18 CMS MEF ZHASHE 7| ChA| MEH 0 148,070
2014/01/29 | RI7HAE 18 CMS +=RAHE 7HASHE 7| CHA| +UIEH 0 -59,160
2014/01/29 | RI7HAE 18 CMS +=RAHE 7HAIEHE 7| CHA| +UIEH 0 59,160
2014/01/29 | = 7HHEl 19 CMS Ot JHA|IBHE 7| CHA otdH 0 -149,640
2014/01/29 | 7H 48l 19 CMS Ot JHA|IBHE 7| CHA otdH 0 149,640
2014/01/29 | S 7HHEl 19 CMS S4t5 T OFECHR ZHAIBHE 7| ChA| SMETH 0 -1,064,880
2014/01/29 | S 7HAE] 19 CMS 2S4S OLECHR A BHE M7 0 1,064,880
2014/01/29 [ RI7HAE] 18 CMS SAAIH ZHAIEHS 7| CHA| SAMMEH 0 -79,020
2014/01/29 | RI7HAE] 18 CMS SAAIH ZHAISHS 7| CHA| SMMEH 0 79,020
2014/01/29 | RI7HAE] 18] CMS ZTIFEOE 7HAgHS 7| CHA| ZFgord 0 -39,440
2014/01/29 | RI7HAE] 18] CMS TIFEOE 7HABHS 7| CHA| ZFgEord 0 39,440
2014/01/29 | RI7HAE] 18 CMS HOMWE ZHAIEHS 7| CHA| HOWEH 0 -113,000
2014/01/29 | RI7HAE] 18] CMS HOHWE ZHAIEHS 7| CHA| HOWEH 0 113,000
2014/01/29 | RI7HAE] 18 CMS HFAE 7HAIEHS 7| CHA| HFEUEH 0 -88,780
2014/01/29 | RI7HAE] 18 CMS HFAE 7HAEHS 7| CHA| HFEUEH 0 88,780
2014/01/29 | @I7H ] 18 CMS HF 8¢ 7HAEHE 7| CHA| HEEAH 0 73,840
2014/01/29 [ S RI7H ] 18 CMS HF 8¢ 7HAIEHE 7| CHA| HEEAH 0 73,840
2014/01/29 | S AZHHE 18 CMS ZHF Z}A TS 7] CHA| ZHHE 0 -655,760
2014/01/29 | S RAZHHE 18 CMS ZHF Z}A TS 7] CHA| ZHH 0 655,760
2014/01/29 | S 7HHEl 19 CMS EZTolaF CHA| SN E 0 -59,700
2014/01/29 | S 7l 19 CMS EZ T olaF CHA| SN E 0 59,700
2014/01/29 |2 iU E! LIO| A% & 41 OFE 22/(2014.1.23) ChA| SN E 0 -96,370
2014/01/29 | IV A LIO|AFE S4 OFE 22/(2014.1.23) CHA| SN E 0 96,370
2014/01/29 [AE 7|2 X ¢l 128 HZHE AL&=Z (#]0|2H0[0|C|0) OLECI2 7t A= 0 670,320
2014/01/29 [AER7|&X| @ 128 HZHZ NEE (ZAANEHIHE) OtECHR 7HAI (% 0 925,680
2014/01/29 |E|E2E 217| gt&= 128 GAtat ] &2 JEIAYE 0 50,050,000
AL 7HAl At 33 B 0| 62,746,187

[ 2014/01/03[A5] B3 L= mSAIS I Z-oleiaajof OjXJHE AL2| S3E 0 1,130,459
A 2ig S B 0 1,130,459

2014/01/02 [At3] X 7| & Ato| M ZXOt7}O|0] =22 - AN &4+ NEEHERE 0 35,000
2014/01/07 [At3] 7| & Ato| M ZXOF7HHIO] =ZE-4*Y At X 7| M E] 0 35,000
2014/01/10 [Ar3| X 7| & Ate| M A X Ot7tH 0| ¢ -oinj0tE & AP X 7| 9 MIE] 0 175,000
2014/01/17 [AL3| X 7| M E (AL S| M A X[ St i) Abo| M Z K OF7HH O] shE (X 213 S AL H 7| Al 0 -35,000
2014/01/17 [AL3| X 7| M E (AL S| M A K[ St i) Abo| M Z K OF7HH O] shE (X 13 S AL H 7| Al 0 -35,000
2014/01/17 [ LS| 7| M E{ (AL S| M ZA K[ St i) Abo| M Z K| OF7HH O] sHE (X 13 S LS| 7| Al E 0 -105,000
AR H 7 A =2 0 70,000

2014/01/03 [LIE WS LW SAR<9|-18 Ot7pH|0]_%|*Of LUsugE 0 50,000
2014/01/03 [LHE WS LIEWSARI9|-13 Ot7LH|0] A X[ E2| LUsugE 0 50,000
2014/01/06 [LHE WS L0 SA<9|-12 Ot7IH|0| HatH= LUsugE 0 50,000
2014/01/13 [LHE WS L0 SA=9|-18 ot7tH|0| H*S LUsugE 0 50,000
2014/01/14[LHE WS L0 SA=9|-18 ot7tH|0| Mg St LUsugE 0 50,000
2014/01/23 [LHE WS LW SAR9|-18 Ot7tH|0] HatH =3l LUsugE 0 50,000
2014/01/23 |Lt=WS L= SAI4-1-12 of7th|n| E*at LEugE 0 50,000
LsuSAY ¢ 0 350,000

2014.01 7|5 25 U EXANALY A 181,532,351




